Chemistry 275 Name:
Practice Exam #3
PERIODIC TABLE OF THE ELEMENTS
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i Name the following compounds as discussed in class. Use cis/trans or E/7
when necessary.
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Draw the following compoun

Show three dimensionality
Dicyclopropyl ether
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b) Isopropoxy tert-butane

=
i
c o C-W
M\ S )
m i
T

d) cis-1-bromo-4-iodo-cyclooctane
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4. Classify the following amines as:
a) primary, secondary or tertiary

} aromatic or aliphatic
) hetrocyclic or non-hetrocyelic
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Draw the following compounds.
1) ortho-isopropyl-anisole

i) pyridine

i) para-xylene
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iv) l.4-cyclohexanedione

v) trans-2-amino-cyclobutane carbaldehyde




6. Draw the products of the following reactions.
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Circle the molecule that has the lowest boiling

the molecule with the highest boiling point.
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Draw the structure of the hydrocarbon products of the following reactions as
discussed in class. Show three dimensionality when appropriate.
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10, For the following nucleophilic substitutions, predict whether the reaction will
go by a Sn1 or a Sx2 reaction mechanism as discussed in class. Draw all
possible hydrocarbon products, showing three dimensionality when
appropriate.
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i For the following B-elimination r
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or more products, circle the major product.
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Starting with 3-methyl-1-pentene and

& using any reactants discussed i
synthesize the compound below
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